
Deutsche van Rietschoten & Houwens GmbH · Junkersstraße 12 · 30179 Hannover · www.elephantbrakes.com

Elephant Brakes by Rietschoten Germany. Strong like an elephant. Smart like an elephant.

Subject to change without notice.

S
ta

te
: 0

1.
08

.2
01

7 
/ V

J

2D-drawing and dimensions see pg. 2

Part-No.: see below

Page 1 / 2

Braking torque MBr [kNm] = Braking force [kN] x eff. disc radius [m]
eff. disc radius = (0,5 x brake disc Ø [m]) - 0,095 m

Type Part-No.
braking 
force 
[kN]

Loss of force
per 1 mm

[%]

pmin. 
[bar]

pmax. 
[bar]

EBS 004 – 104 60095-104 104 8 130 180
EBS 004 – 96 60095-96 96 9 122 172
EBS 004 – 88 60095-88 88 10,2 114 164
EBS 004 – 80 60095-80 80 11,8 106 156
EBS 004 – 72 60095-72 72 13,9 97 147
EBS 004 – 62 60095-62 62 16,9 88 138
EBS 004 – 56 60095-56 56 6 68 118
EBS 004 – 53 60095-53 53 6,7 65 115
EBS 004 – 49 60095-49 49 7,6 62 112

Oil demand ar 2 mm air gap (per side): 56 cm³
Brake suitable for mouting on brake discs according to DIN 15433 Dmin. Ø > 800 mm
Weight: one half of caliper 95 kg (total weight: 190 kg)

Brake Caliper EBS 004

spring-applied, hydraulically released



Deutsche van Rietschoten & Houwens GmbH · Junkersstraße 12 · 30179 Hannover · www.elephantbrakes.com

Elephant Brakes by Rietschoten Germany. Strong like an elephant. Smart like an elephant.

Subject to change without notice.

57
57

60
60

60

26
5

Bm
in
. =

 2
0 

10
+B

95

17
,5

3x 

26
4x 

20100 125

30

3x Leckölanschluss G1/8"

19
1

2x Leckölanschluss G1/8"

17
4

340

30

100

95

115

Schraube ISO 4017 M24x(385+B) - 8.8
Scheiben ISO 7089 A 25
Mutter ISO 4032 M24

2x Überwachung M18x1,5

23
5

18
3

115

140

2
6

4x 17
,5

3x 

11
46018
0

20

Schraube ISO 4017 M16x(90+B) - 8.8
Scheiben ISO 7089 A 17
Mutter ISO 4032 M16

Ölanschluss G3/8"

Entlüftung G3/8"

36
0

56
9+

B

Raum für 
Belagwechsel

Part-No.: see pg. 1

Page 2 / 2

Threaded bolts, screws and nuts are not scope of supply!
Min. quality of fixing materials: 8.8

bleeding G 3/8“

space for 
brake pad 
change

2 x drain line G 1/8“

2x monitoring M18x1,5

oil connector G 3/8“

3x drain line G 1/8“

screw ISO 4017 M16x(90+B) – 8.8
washer ISO 7089 A 17
nut ISO 4032 M16

screw ISO 4017 M24x(385+B) – 8.8
washer ISO 7089 A 25
nut ISO 4032 M24

Brake Caliper EBS 004

spring-applied, hydraulically released


